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S.Y. B.Com.
236 E: COSTAND WGRKSACCOUNTING -1
(2019Ra ttern) (Semester - ITT)

| Time : 2% Hours] el T [Max. Marks : 50
] Instructions to the candidgte&:
‘ 1)  All questions ire conpuisory.

2)  Figures to, ight-indicates full marks.

3) Useof cal@i{lawr »ﬂis\allowed.

Q1) A) Fiﬁw‘;n the blanks by choosing the proper alternative given in the bracket.
(anyfive) ' (5]

a)-.Bill of material is prepared by the = department
(Planning. Account. Production) '

b) In ABC Analysis ‘B’ standfor” .
(Best. Better, Before) :

¢) Perpetual inventory cqtiirél is the stock checking system.
(Half yearly, quarterl¥, Continuous)

d) The total of Prime cast + Factory overheads is known as -
(Factory Cost, Cost ofProduction. Total Cost)

€) is a nofi-cost. item.
(Consumables, Carriage Outward, Donation)

) is the-unit of quantity of product, service or time in
relation to which costs may be ascertained or expressed.
(Cost center, cost unit, inventory control) W\

B) Match the following Pairs: . [5]
Group “A’ Group "B’
a) EQQ iy HP-
b) Legal fees i) . “Otdering Cost
¢) Power iii}.. Inventory Control
d) Material Turnover Ratio iv) Aﬁhiinistrative Overheads
e) ABC Analysis v) . Fast and slow moving material
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02) Write short notes on any two of the following: 110]
a) Distinction between Financial and Cost Accounting.
b) Classification of Cost on the bésis of Functions.
¢) Cost Centre and Cost unit
d) Distinguish between, Stord‘@edger and Bin Card.

Q3) a) Followingis ,tﬁév'c'iata‘“éf Super Industries. Saswad for the year ended 31

March, 2023. - I8]
[Particulbars - * Amount
Sales 5.25.000
Purchases. 2,40,000
Cafriage-outward 25.000
Direct Wages 1.00,000
Salesman's Salary 60,000
Repairs to office building 40,000
Gas, Fuel and Water g‘f«a \25';000

- Repairs to Machinery T 078,000
Opening stock of raw materi»gij; 1,25,000
Closing stock of raw ma}éﬁai n 25,000
Bad debts Y 10,000

You are required to preparP a Cost Sheet for the same computing the
following: »

i)  Cost of Material C(msumed
i) Prime Cost

i)  Works/Factory Cost

iv) Cost of Production

v)  Total Cost

vi) Profit / Loss

b)  The annual consumption of a product is 60, 000 umts éach costing Rs.2000
and the carrying cost is 20% of the In\e GX'V wiue The ordering cost
amounts to Rs.1200 per order. T m,

Calculate the economic ordering quanm\ aad also compute the number
of orders in a year. {71
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04) a) Minimum Consumption : 100 unit 18]
Maximum Consumption : 150 units
Normal Consumption : 1207units
Reorder Quantity : 1500 units
Reorder Period ;,’;';1‘(1) to 15 days

Normal Reordeg“‘?éﬁod« 12 days
Calculate the t@%&*\zmg ¢

)  MaximunrStock Level

i)  Minimum Stock Level

i) Reorder Level

iv) ‘:A}ffs/ragé;S‘tock Level

b) Dé%"érib';' in brief the procedure for Purchase ot Material from outside
mar};et‘: ' N
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